

Mr. Stacy Slawinski, PE

February 9, 2022

County Engineer

Project No:

008032

Fort Bend County

Invoice No:

122037

Engineering Department 1517 Eugene Heimann Circle

Richmond, TX 77469

Fort Bend County PO#199020

Project Name: 2020 Project Management Services

Project No. 20001x,

Total contract amount \$1,000,000.00

For Professional Services rendered from January 1, 2022 to January 28, 2022:

20201 - Lake Olympia Parkway (17201)

#### **Professional Personnel**

		Hours	Rate	Amount
Project Manager				
Griffin, Jonathan	1/11/2022	2.00	205.00	410.00
Coordination efforts				
Griffin, Jonathan	1/13/2022	1.00	205.00	205.00
Design Consultant Coord	dination			
Odreman, Gabriel	1/13/2022	1.00	205.00	205.00
Coordination for permits	and agreements			
Totals		4.00		820.00
Total Labor				

820.00

\$820.00

20202 - Chimney Rock (17202)

#### **Professional Personnel**

		Hours	Rate	Amount
Project Manager				
Griffin, Jonathan	1/24/2022	2.00	205.00	410.00
Design Consultant Coordi	nation			
Griffin, Jonathan	1/25/2022	2.00	205.00	410.00
Cost Estimate for Median	Opening			
Griffin, Jonathan	1/26/2022	1.00	205.00	205.00
Design Consultant Coordi	nation			
Totals		5.00		1,025.00
Total Labor				

1,025.00

\$1,025.00

20205 - Blueridge Road Widening

		Hours	Rate	Amount
Project Manager				
Odreman, Gabriel	1/6/2022	1.00	205.00	205.00
Monhtly progress meeting				
Odreman, Gabriel	1/19/2022	1.00	205.00	205.00
Geotech report review				

roject	008032	Fort Bend County 2020	Mobility Bond		Invoice	122037
	iate Engineer					
R	ichardson, Mark	1/7/2022	1.00	130.00	130.00	
	-	off meeting and answering of	design questions			
R	ichardson, Mark	1/19/2022	1.50	130.00	195.00	
	Follow up on project	as PER approaches				
	Totals		4.50		735.00	
	Total Lab	or				735.00
						\$735.00
0206 - Sie	enna Parkway Intersection	ıs				
rofession	al Personnel					
			Hours	Rate	Amount	
Projec	t Manager					
_	Odreman, Gabriel	1/19/2022	1.00	205.00	205.00	
·		sign engineer and Ike for ame		200.00	200100	
Assoc	iate Engineer	sign engineer and the tot ame	adinoni.			
	tichardson, Mark	1/11/2022	2.00	130.00	260.00	
N.		Itant to get status update on p			200.00	
	coordination with Tra		ojeci and pian 10	1		
D	tichardson, Mark	1/17/2022	1.50	130.00	195.00	
1	•	sign consultant for tie in to Tr		150.00	1,0,00	
	Totals	sign consultant for the in to 11	4,50		660.00	
	Total Lab	a.w			000.00	660.00
	I Otal Lau	O1				000.00
						\$660.00
0207 Sia	enna Ranch					
Profession	al Personnel					
			Hours	Rate	Amount	
Assoc	iate Engineer					
R	Lichardson, Mark	1/7/2022	1.00	130.00	130.00	
	Follow up on kickoff	and preliminary design				
R	tichardson, Mark	1/21/2022	1.00	130.00	130.00	
	Final proposal review	7				
	Totals		2.00		260.00	
	Total Lab	or				260.00
	- <del></del>					
						\$260.00
10208 - Tra	ammel Fresno					
Profession	al Personnel					
			Hours	Rate	Amount	
Senio	r Project Manager					
	Anderson, Jeff	1/5/2022	1.00	240.00	240.00	
	et Manager	2,0/2022	1.00		2.5.00	
_	Griffin, Jonathan	1/18/2022	1.00	205.00	205.00	
C		1/ 10/ 2022	1.00	200,00	205.00	
	Review Proposal	1/6/2022	1.00	205.00	205.00	
,	Odreman, Gabriel		1.00	203.00	203.00	
c	-	mai reports	2.00	305.00	410.00	
	Review of environme	<del>-</del>		205,00	410.00	
	Review of environme Odreman, Gabriel	1/14/2022	2.00			
C	Review of environme Odreman, Gabriel Proposal last review	1/14/2022				
C	Review of environme Odreman, Gabriel Proposal last review Odreman, Gabriel	1/14/2022 1/19/2022	2.00	205.00	410.00	
C	Review of environme Odreman, Gabriel Proposal last review	1/14/2022 1/19/2022			410.00	
c c	Review of environme Odreman, Gabriel Proposal last review Odreman, Gabriel	1/14/2022 1/19/2022			410.00 410.00	
c c	Review of environme Odreman, Gabriel Proposal last review Odreman, Gabriel Proposal final review	1/14/2022 1/19/2022 and negotiations 1/27/2022	2.00	205.00		
c c	Review of environme Odreman, Gabriel Proposal last review Odreman, Gabriel Proposal final review Odreman, Gabriel	1/14/2022 1/19/2022 and negotiations 1/27/2022	2.00	205.00		

Project	008032	Fort Bend County 2020	020 Mobility Bond		Invoice	122037
	Review of proposal					
	Richardson, Mark	1/13/2022	1.00	130.00	130.00	
	Coordination plan with	Sienna Parkway Intersection	1			
	Richardson, Mark	1/17/2022	.50	130.00	65.00	
	Coordination with Sienr	na ranch for designing tie-in				
	Richardson, Mark	1/21/2022	1,00	130.00	130.00	
	Final proposal review					
	Totals		13.00		2,400.00	
	Total Labor					2,400.00
						\$2,400.00

## 20209 - Watts Plantation Road

## **Professional Personnel**

		Hours	Rate	Amount	
Senior Project Manager					
Gonzalez, Martin	1/26/2022	3.00	240.00	720.00	
Project Manager					
Bathe, Cody	1/6/2022	2.00	205.00	410.00	
Researched drainage dist about the PER	ricts and Levee district to a	each out to you t	o contact him		
Bathe, Cody	1/7/2022	1.00	205.00	205.00	
Followed up with levee of	listrict regarding project				
Bathe, Cody	1/13/2022	3.00	205.00	615.00	
Coordinate with Levi dis	trict				
Odreman, Gabriel	1/6/2022	1.00	205.00	205.00	
Monhtly progress meeting	ıg				
Odreman, Gabriel	1/27/2022	2.00	205.00	410.00	
Draft PER Review					
Associate Engineer					
Richardson, Mark	1/7/2022	1.00	130.00	130.00	
Follow up on PER and re	eview				
Richardson, Mark	1/17/2022	.50	130.00	65.00	
Follow up on project as l	PER due date approaches				
Richardson, Mark	1/20/2022	1.00	130.00	130.00	
Coordination with design	n consultant				
Totals		14.50		2,890.00	
Total Labor					2,890.00
					\$2,890.00

# 20210 - Winkleman & Castlegate Dr

		Hours	Rate	Amount
Project Manager				
Griffin, Jonathan	1/24/2022	2.00	205.00	410.00
Review Proposal				
Odreman, Gabriel	1/14/2022	2.00	205.00	410.00
Proposal last review				
Odreman, Gabriel	1/19/2022	1.00	205.00	205.00
Proposal review and coo	ordination with consultant			
Odreman, Gabriel	1/27/2022	2.00	205.00	410.00
Negitiation with Gooder	ı for proposal			
Associate Engineer				
Linares, Neyra	1/17/2022	2.00	130.00	260.00
Proposal Review				
Richardson, Mark	1/7/2022	1.50	130.00	195.00
Follow up on proposal				

Project 008032	Fort Bend County 2020	Mobility Bond		Invoice	122037
Richardson, Mark	1/13/2022	2.00	130.00	260.00	•
Proposal review					
Richardson, Mark	1/18/2022	1.50	130.00	195.00	
Proposal review					
Richardson, Mark	1/26/2022	.50	130.00	65.00	
Follow up on prope	osal status				
Clerical					
Diederich, Diana	1/25/2022	1.00	105.00	105.00	
Pulling documents	for meeting				
Diederich, Diana	1/26/2022	1.00	105.00	105.00	
Meeting preparatio	n for GO				
Diederich, Diana	1/27/2022	1.00	105.00	105.00	
Meeting preparatio	n for GO				
Totals		17.50		2,725.00	
Total La	abor				2,725.00
					\$2,725.00

20219x - FB Parkway at Beltway 8 Ramp

		Hours	Rate	Amount
Senior Project Manager				
Gant, Patrick	1/12/2022	1.00	240.00	240.00
Attend coordination mintersection	neeting with AIG to discuss the	BW 8 at Fort B	Bend Parkway	
Gant, Patrick	1/13/2022	4.00	240.00	960.00
Review 60% submitta	l and coordinate			
Gant, Patrick	1/14/2022	4,00	240.00	960.00
Review 60% plans and	d coordinate with AIG			
Gant, Patrick	1/18/2022	5.00	240.00	1,200.00
prepared comment/res review team. Contact	ponse matrix of 60% review c ed AIG to undstand status of d	omments. coord eliverables	linated with	
Gant, Patrick	1/19/2022	2.00	240.00	480.00
compiled final list of their use prior to follo	comments on the AIG 60% sub w up meeting	omittal and sent	to AIG for	
Gant, Patrick	1/20/2022	2.00	240.00	480.00
60% submittal meetin	g with AIG			
Gant, Patrick	1/21/2022	2.00	240.00	480.00
Follow up/action item	s from AIG 60% meeting			
Gant, Patrick	1/24/2022	1.00	240.00	240.00
coordination with AIC	on traffic study analysis			
Gant, Patrick	1/25/2022	1.00	240.00	240.00
coordination with AIC	on traffic study analysis			
Gant, Patrick	1/26/2022	1.00	240.00	240.00
Meeting with the Cou	nty to go over the traffic study			
Gant, Patrick	1/28/2022	2.00	240.00	480.00
Coordination with CC	H on intersection design			
Project Manager				
Griffin, Jonathan	1/10/2022	3.00	205.00	615.00
Review 60% Plans				
Griffin, Jonathan	1/11/2022	2.00	205.00	410.00
Review Shop Drawing	gs for Submittal 22 and 23			
Griffin, Jonathan	1/13/2022	4.00	205.00	820.00
Internal Meeting and	Plans Review			
Griffin, Jonathan	1/18/2022	1.00	205.00	205.00
Review Geotech Repo	ort	•		
Griffin, Jonathan	1/20/2022	2.00	205.00	410.00
Meeting with AIG to	discuss 60% comments and ge	otech report		

oject 008032	Fort Bend County 2020	Mobility Bond		Invoice	122037
Odreman, Gabriel	1/11/2022	1.00	205.00	205.00	
Meeting with the To	oll Road and BGE				
Odreman, Gabriel	1/12/2022	1.50	205.00	307.50	
Meeting with AIG a	bout intersection improvements				
Odreman, Gabriel	1/13/2022	2.00	205.00	410.00	•
60% review comme	nts				
Odreman, Gabriel	1/20/2022	2.00	205.00	410.00	
Project meeting with	n design consultant for commen	ts to 60% submit	tal		
Odreman, Gabriel	1/26/2022	1.00	205.00	205.00	
Traffic Memo discu	ssion with FBC Engineering				
Odreman, Gabriel	1/27/2022	1.00	205.00	205.00	
Coodination with Ci	ity of Houston				
Senior Project Engineer					
Nash, Don	1/13/2022	2.00	185.00	370.00	
Clerical					
Diederich, Diana	1/13/2022	1.00	105.00	105.00	
Comments to plans:	for DN				
Totals		48.50		10,677.50	
Total Lai	bor				10,677.50
					\$10,677.50

20220x - Evergreen Side Roads

tessionai Personnei					
		Hours	Rate	Amount	
Senior Project Manager					
Gant, Patrick	1/11/2022	3.00	240.00	720.00	
Prepared for meeting wi	ith Fort Bend County (1/12	/2022)			
Gant, Patrick	1/12/2022	5.00	240.00	1,200.00	
Prepare for and attend n Sidestreets	neeting with FBC Precinct	2 to discuss the E	vergreen		
Gant, Patrick	1/17/2022	1.00	240.00	240.00	
Reviewed PowerPoint p	resentation for meeting wit	th hr green			
Gant, Patrick	1/18/2022	2.00	240.00	480.00	
held initial meeting with	1 HR Green and subs to dis-	cuss the project.			
Gant, Patrick	1/19/2022	2.00	240.00	480.00	
	nformation on property own esh Water District to inquir				
Gant, Patrick	1/20/2022	2.00	240.00	480.00	
coordination with HR G	reen and RPS team on scop	ping			
Project Manager					
Odreman, Gabriel	1/18/2022	2.00	205.00	410.00	
Meeting with design cor	nsultant team to explain pro	oject scope			
Odreman, Gabriel	1/26/2022	1.00	205.00	205.00	
Coordination with HR (	Freen				
Associate Engineer					
Richardson, Mark	1/13/2022	2.00	130.00	260.00	
Work on exhibits for sid	le streets				
Richardson, Mark	1/20/2022	1.50	130.00	195.00	
Kickoff meeting with co	onsultant and subs				
Clerical					
Diederich, Diana	1/17/2022	1.00	105.00	105.00	
Adm assistance					
Totals		22.50		4,775.00	
Total Labor					4,775.0
					\$4,775.0

Project	008032	Fort Bend County 2020	Mobility Bond		Invoice	122037
Project	Management					-
Profess	ional Personnel					
			Hours	Rate	Amount	
Pro	oject Manager					
	Griffin, Jonathan	1/5/2022	2.00	205.00	410.00	
		mate for Witney Way & Caste	•	205.00	205.00	
	Griffin, Jonathan Review Watts Plantati	1/10/2022	1.00	205.00	205.00	
	Griffin, Jonathan	1/25/2022	1.00	205.00	205.00	
	Internal Status Meetin		1.00	203.00	205.00	
	Odreman, Gabriel	1/4/2022	3.00	205.00	615.00	
	· ·	, schedules, budgets, next subn	nittals			
	Odreman, Gabriel	1/10/2022	3.00	205.00	615.00	
	-	Schedules, budgets, quality)				
	Odreman, Gabriel	1/17/2022	3.00	205.00	615.00	
	•	ation (Budget, schedules)		205.00	(15.00	
	Odreman, Gabriel	1/25/2022	3.00	205.00	615.00	
	Project status review ( Odreman, Gabriel	1/26/2022	1.00	205.00	205.00	
	Meeting with Missour		1.00	203.00	200,00	
Cle	erical	y Ony				
	Diederich, Diana	1/24/2022	2.00	105.00	210.00	
	Meeting binder inforn	nation				
	Diederich, Diana	1/25/2022	.50	105.00	52.50	
	Weekly update meetir	ng ·			•	
	Totals		19.50		3,747.50	
	Total Labo	r				3,747.50
						\$3,747.50
Masterv	vorks					
Profess	ional Personnel					
			Hours	Rate	Amount	
As	sociate Engineer					
	Edwards, Katlyn	1/4/2022	1.00	130.00	130.00	
	helping with invoicing		1.00	120.00	120.00	
	Edwards, Katlyn helped with invoicing	1/5/2022	1.00	130.00	130.00	
	Edwards, Katlyn	1/6/2022	1.50	130.00	195.00	
	•	g and getting other firms into m		120100	1,50,00	
	Edwards, Katlyn	1/10/2022	.50	130.00	65.00	
	checked on invoice an	d PO status				
	Edwards, Katlyn	1/11/2022	.50	130.00	65.00	
	_	to get new user for masterwor				
	Edwards, Katlyn	1/12/2022	.50	130.00	65.00	
	checked on invoice sta		1.00	120.00	120.00	
	Edwards, Katlyn	1/19/2022 ith blueridge invoices and chim	1.00	130.00	130.00	
	Edwards, Katlyn	1/20/2022	1.00	130.00	130.00	
		gress update, checking invoice		150.00	150.00	
	Edwards, Katlyn	1/26/2022	.50	130.00	65.00	
	approving invoices					
	Edwards, Katlyn	1/28/2022	1.50	130.00	195.00	
	uploading documents plansets	and approving invoice, checking	ng project sched	lules, and		
	Totals		9.00		1,170.00	
	Total Labo	or				1,170.00

Project	008032	Fort Bend County 2020 Mobility	Bond	Invoice	122037
					\$1,170.00
Reimbursal	ble Expenses				
Reimbursa	ible Expenses				
Reim 1	Exp-Mileage			18.72	
	Total R	eimbursables	1.0 times	18.72	18.72
					\$18.72
Recap:		Current	Previous	To-Date	
Total 1	Billings	31,903.72	220,368.89	252,272.61	
C	ontract Amount			1,000,000.00	
В	alance			747,727.39	
			Total Due This	Invoice:	\$31,903,72

Remit Payment: RPS Infrastructure, Inc. 575 N. Dairy Ashford, Suite 700, Houston, Texas, 77079 T: (281) 589-7257 -

Project	008032	Fort Bend County	2020 Mobility Bond		Invoice 1	22037
Billing	g Backup				Friday, Ja	anuary 28, 2022
-	ucture Inc. (Live)		Invoice 122037 Dat	ed 2/9/2022		2:08:18 PM
Professional	l Personnel					
			Hours	Rate	Amount	
Project Man	-					
1	6 - Griffin, Jonathan	1/11/2022	2.00	205.00	410.00	
	Coordination efforts	1/13/2022	1.00	205.00	205.00	
	6 - Griffin, Jonathan Design Consultant Coordin		1.00	205.00	203.00	
	6 - Odreman, Gabriel	1/13/2022	1.00	205.00	205.00	
	Coordination for permits a		2100			
	Totals		4.00		820.00	
	Total Labor		4			820.00
						\$820.00
Professiona	l Parsannol					
. i ulussivila	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~		Hours	Rate	Amount	
Project Man	ager					
•	6 - Griffin, Jonathan	1/24/2022	2.00	205.00	410.00	
	Design Consultant Coording	ation				
	6 - Griffin, Jonathan	1/25/2022	2.00	205.00	410.00	
	Cost Estimate for Median	-	4.00	205.00	205.00	
	6 - Griffin, Jonathan	1/26/2022	1.00	205.00	205.00	
	Design Consultant Coordin Totals	iation	5.00		1,025.00	
	Total Labor		5.00		1,025.00	1,025.00
						·
			•			\$1,025.00
Professiona	l Personnel					
			Hours	Rate	Amount	
Project Man	=	4		205.00	***	
	6 - Odreman, Gabriel	1/6/2022	1.00	205.00	205.00	
	Monhtly progress meeting 6 - Odreman, Gabriel	1/19/2022	1.00	205.00	205.00	
	Geotech report review	1/19/2022	1.00	203.00	203.00	
Associate Er	-					
· ·	20 - Richardson, Mark	1/7/2022	1.00	130.00	130.00	
	Follow up from Kickoff m					
·	20 - Richardson, Mark	1/19/2022	1.50	130.00	195.00	
	Follow up on project as PF	R approaches				
	Totals		4.50		735.00	
	Total Labor					735.00
						\$735.00

	008032	Fort Bend County 2020	Mobility Bond		Invoice	122037
Profession	al Personnel			<b>D</b>	<b>.</b>	
Project Ma	nager		Hours	Rate	Amount	
20,000 21.20	6 - Odreman, Gabriel	1/19/2022	1.00	205.00	205.00	
	Coordination with design	engineer and Ike for ame	ndment			
Associate I	Engineer	-				
	20 - Richardson, Mark	1/11/2022	2.00	130.00	260.00	
		nt to get status update on p nel Fresno	roject and plan fo	or		
	20 - Richardson, Mark	1/17/2022	1.50	130.00	195.00	
	Coordination with design	consultant for tie in to Tr	ammel Fresno			
	Totals		4.50		660.00	
	Total Labor					660.00
						\$660.00
						\$000.00
rofession	al Personnel					
_			Hours	Rate	Amount	
Associate I	_	1 15 10 000	4.62	120.00	100.00	
	20 - Richardson, Mark	1/7/2022	1.00	130.00	130.00	
	Follow up on kickoff and	1/21/2022	1.00	130.00	120.00	
	20 - Richardson, Mark	1/21/2022	1.00	130.00	130.00	
	Final proposal review Totals		2.00		260.00	
	Total Labor		2.00		200.00	260.00
						\$260.00
Profession	al Personnel					\$260.00
			Hours	Rate	Amount	\$260.00
	ject Manager	1/5/2000				\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff	1/5/2022	Hours	<b>Rate</b> 240.00	<b>Amount</b> 240.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff nager		1.00	240.00	240.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff nager 6 - Griffin, Jonathan	1/5/2022 1/18/2022				\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff nager 6 - Griffin, Jonathan Review Proposal	1/18/2022	1.00 1.00	240.00 205.00	240.00 205.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff nager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel	1/18/2022 1/6/2022	1.00	240.00	240.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta	1/18/2022 1/6/2022 I reports	1.00 1.00 1.00	240.00 205.00 205.00	240.00 205.00 205.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel	1/18/2022 1/6/2022	1.00 1.00	240.00 205.00	240.00 205.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review	1/18/2022 1/6/2022 I reports 1/14/2022	1.00 1.00 1.00 2.00	240.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel	1/18/2022 1/6/2022 1 reports 1/14/2022 1/19/2022	1.00 1.00 1.00	240.00 205.00 205.00	240.00 205.00 205.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and	1/18/2022 1/6/2022 I reports 1/14/2022 1/19/2022 I negotiations	1.00 1.00 1.00 2.00 2.00	240.00 205.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00	<b>\$260.00</b>
Senior Proj	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel	1/18/2022  1/6/2022 I reports  1/14/2022  1/19/2022 I negotiations  1/27/2022	1.00 1.00 1.00 2.00	240.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00	\$260 <b>.</b> 00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fi	1/18/2022  1/6/2022 I reports  1/14/2022  1/19/2022 I negotiations  1/27/2022	1.00 1.00 1.00 2.00 2.00	240.00 205.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00	\$260.00
Senior Proj	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fi	1/18/2022  1/6/2022  I reports  1/14/2022  1/19/2022  I negotiations  1/27/2022  or contract	1.00 1.00 1.00 2.00 2.00 2.00	240.00 205.00 205.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00 410.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fe	1/18/2022  1/6/2022 I reports  1/14/2022  1/19/2022 I negotiations  1/27/2022	1.00 1.00 1.00 2.00 2.00	240.00 205.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fi	1/18/2022  1/6/2022  I reports  1/14/2022  1/19/2022  I negotiations  1/27/2022  or contract	1.00 1.00 1.00 2.00 2.00 2.00	240.00 205.00 205.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00 410.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fillengineer 20 - Richardson, Mark Review of proposal 20 - Richardson, Mark	1/18/2022  1/6/2022 1 reports 1/14/2022 1/19/2022 1 negotiations 1/27/2022 or contract 1/7/2022	1.00 1.00 1.00 2.00 2.00 2.00 1.50	240.00 205.00 205.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00 410.00 195.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fillengineer 20 - Richardson, Mark Review of proposal 20 - Richardson, Mark Coordination plan with S	1/18/2022  1/6/2022  I reports  1/14/2022  1/19/2022  I negotiations  1/27/2022  or contract  1/7/2022	1.00 1.00 1.00 2.00 2.00 2.00 1.50 1.00	240.00 205.00 205.00 205.00 205.00 205.00	240.00 205.00 205.00 410.00 410.00 195.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fe Engineer 20 - Richardson, Mark Review of proposal 20 - Richardson, Mark Coordination plan with S 20 - Richardson, Mark	1/18/2022  1/6/2022 I reports 1/14/2022  1/19/2022 I negotiations 1/27/2022 or contract 1/7/2022  1/13/2022 tienna Parkway Intersectio 1/17/2022	1.00 1.00 1.00 2.00 2.00 2.00 1.50 1.00 50	240.00 205.00 205.00 205.00 205.00 205.00 130.00	240.00 205.00 205.00 410.00 410.00 195.00 130.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fe Engineer 20 - Richardson, Mark Review of proposal 20 - Richardson, Mark Coordination plan with S 20 - Richardson, Mark	1/18/2022  1/6/2022 I reports  1/14/2022  1/19/2022 I negotiations  1/27/2022 or contract  1/7/2022  1/13/2022 ienna Parkway Intersectio	1.00 1.00 1.00 2.00 2.00 2.00 1.50 1.00 50	240.00 205.00 205.00 205.00 205.00 205.00 130.00	240.00 205.00 205.00 410.00 410.00 195.00 130.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fill Engineer 20 - Richardson, Mark Review of proposal 20 - Richardson, Mark Coordination plan with S 20 - Richardson, Mark Coordination with Sienna 20 - Richardson, Mark	1/18/2022  1/6/2022  I reports 1/14/2022  1/19/2022  I negotiations 1/27/2022  or contract 1/7/2022  1/13/2022  ienna Parkway Intersectio 1/17/2022  a ranch for designing tie-ir	1.00 1.00 1.00 2.00 2.00 2.00 1.50 1.00 1.00 1.00	240.00 205.00 205.00 205.00 205.00 130.00 130.00	240.00 205.00 205.00 410.00 410.00 195.00 130.00 65.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fe Engineer 20 - Richardson, Mark Review of proposal 20 - Richardson, Mark Coordination plan with S 20 - Richardson, Mark	1/18/2022  1/6/2022  I reports 1/14/2022  1/19/2022  I negotiations 1/27/2022  or contract 1/7/2022  1/13/2022  ienna Parkway Intersectio 1/17/2022  a ranch for designing tie-ir	1.00 1.00 1.00 2.00 2.00 2.00 1.50 1.00 1.00 1.00	240.00 205.00 205.00 205.00 205.00 130.00 130.00	240.00 205.00 205.00 410.00 410.00 195.00 130.00 65.00	\$260.00
Senior Proj Project Ma	ject Manager 30 - Anderson, Jeff mager 6 - Griffin, Jonathan Review Proposal 6 - Odreman, Gabriel Review of environmenta 6 - Odreman, Gabriel Proposal last review 6 - Odreman, Gabriel Proposal final review and 6 - Odreman, Gabriel Coordination with SES fi Engineer 20 - Richardson, Mark Review of proposal 20 - Richardson, Mark Coordination plan with S 20 - Richardson, Mark Coordination with Sienna 20 - Richardson, Mark	1/18/2022  1/6/2022  I reports 1/14/2022  1/19/2022  I negotiations 1/27/2022  or contract 1/7/2022  1/13/2022  ienna Parkway Intersectio 1/17/2022  a ranch for designing tie-ir	1.00 1.00 1.00 2.00 2.00 2.00 1.50 1.00 1.00	240.00 205.00 205.00 205.00 205.00 130.00 130.00	240.00 205.00 205.00 410.00 410.00 195.00 130.00 65.00	\$260.00 2,400.00

Project	008032 Fort	Bend County 2020	Mobility Bond		Invoice	122037
Profession	al Personnel					
			Hours	Rate	Amount	
Senior Proj	ect Manager					
	30 - Gonzalez, Martin	1/26/2022	3.00	240.00	720.00	
Project Ma	~					
	6 - Bathe, Cody	1/6/2022	2.00	205.00	410.00	
	Researched drainage districts ar	d Levee district to	reach out to you	to contact him		
	about the PER	4 (7 10 0 0 0	1.00		205.00	
	6 - Bathe, Cody	1/7/2022	1.00	205.00	205.00	
	Followed up with levee district			207.00		
	6 - Bathe, Cody	1/13/2022	3.00	205.00	615.00	
	Coordinate with Levi district	41510000		207.00	005.00	
	6 - Odreman, Gabriel	1/6/2022	1.00	205.00	205.00	
	Monhtly progress meeting		* ^ ^	***	440.00	
	6 - Odreman, Gabriel	1/27/2022	2.00	205.00	410.00	
	Draft PER Review					
Associate I	2	4 /8 (0.000	• • •	100.00	120.00	
	20 - Richardson, Mark	1/7/2022	1.00	130.00	130.00	
	Follow up on PER and review	1 14 11 11 12 2 2 2		100.00	e	
	20 - Richardson, Mark	1/17/2022	.50	130.00	65.00	
	Follow up on project as PER du			400.00	400.00	
	20 - Richardson, Mark	1/20/2022	1.00	130.00	130.00	
	Coordination with design consu	Itant	1450		0.000.00	
	Totals		14.50		2,890.00	* ***
	Total Labor					2,890.00
						\$2,890.00
Profession	al Personnel					
			Hours	Rate	Amount	
Project Ma	nager					
	6 - Griffin, Jonathan	1/24/2022	2.00	205.00	410.00	
	Review Proposal					
	6 - Odreman, Gabriel	1/14/2022	2.00	205.00	410.00	
	Proposal last review					
	6 - Odreman, Gabriel	1/19/2022	1.00	205.00	205.00	
	Proposal review and coordination	on with consultant				
	6 - Odreman, Gabriel	1/27/2022	2.00	205.00	410.00	
	Negitiation with Gooden for pro	posal				
Associate I	Engineer					
	20 - Linares, Neyra	1/17/2022	2.00	130.00	260.00	
	Proposal Review					
	20 - Richardson, Mark	1/7/2022	1.50	130.00	195.00	
	Follow up on proposal					
	20 - Richardson, Mark	1/13/2022	2.00	130.00	260.00	
	Proposal review					
	20 - Richardson, Mark	1/18/2022	1.50	130.00	195.00	
	Proposal review					
	20 - Richardson, Mark	1/26/2022	.50	130.00	65.00	
	Follow up on proposal status					
Clerical						
6 1	29 - Diederich, Diana	1/25/2022	1.00	105.00	105.00	
	Pulling documents for meeting					
	29 - Diederich, Diana	1/26/2022	1.00	105.00	105.00	
	29 - Dieuciicii, Diana					
	Meeting preparation for GO					
		1/27/2022	1.00	105.00	105.00	

Project	008032	Fort Bend County 2020 Mobility Bond	Invoice	122037
<u></u>	Meeting preparation	on for GO		·
	Totals	17.50	2,725.00	
	Total L	abor		2,725.00
				\$2,725,00

Senior Project Manager   Senior Project Man	Professional	Personnel				
5 - Gant, Patrick				Hours	Rate	Amount
Attend coordination meeting with AIG to discuss the BW 8 at Fort Bend Parkway intersection 5 - Gant, Patrick 1/13/2022 4.00 240.00 960.00 Review 60% submittal and coordinate 5 - Gant, Patrick 1/14/2022 4.00 240.00 960.00 Review 60% plans and coordinate with AIG 5 - Gant, Patrick 1/18/2022 5.00 240.00 1,200.00 prepared comment/response matrix of 60% review comments. coordinated with review team. Contacted AIG to undstand status of deliverables 5 - Gant, Patrick 1/19/2022 2.00 240.00 480.00 compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting 5 - Gant, Patrick 1/20/2022 2.00 240.00 480.00 60% submittal meeting with AIG 5 - Gant, Patrick 1/21/2022 2.00 240.00 480.00 60% submittal meeting with AIG 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 Follow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager 6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 410.00 Review 60% Plans 1/13/2022 1.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 410.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Alonton	Senior Projec	t Manager				
intersection 5 - Gant, Patrick 1/13/2022 4.00 240.00 960.00 Review 60% submittal and coordinate 5 - Gant, Patrick 1/14/2022 4.00 240.00 960.00 Review 60% plans and coordinate with AIG 5 - Gant, Patrick 1/18/2022 5.00 240.00 1,200.00 prepared comment/response matrix of 60% review comments. coordinated with review team. Contacted AIG to undstand status of deliverables 5 - Gant, Patrick 1/19/2022 2.00 240.00 480.00 compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting 5 - Gant, Patrick 1/20/2022 2.00 240.00 480.00 60% submittal meeting with AIG 5 - Gant, Patrick 1/21/2022 2.00 240.00 480.00 Follow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 Pellow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study Meeting with the County to go over the traffic study Meeting with the County to go over the traffic study Coordination with COH on intersection design  Project Manager 6 - Griffin, Jonathan 1/10/2022 3.00 205.00 40.00 Review 60% Plans 6 - Griffin, Jonathan 1/10/2022 3.00 205.00 410.00 Review 60% Plans 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Gootech Report 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 400.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Gootech Report 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 307.50 Meeting with AIG to discuss 60% comments and geotech report 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 410.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Project Engineer	•	•	1/12/2022	1.00	240.00	240.00
intersection 5 - Gant, Patrick 1/13/2022 4.00 240.00 960.00 Review 60% submittal and coordinate 5 - Gant, Patrick 1/14/2022 4.00 240.00 960.00 Review 60% plans and coordinate with AIG 5 - Gant, Patrick 1/18/2022 5.00 240.00 1,200.00 prepared comment/response matrix of 60% review comments. coordinated with review team. Contacted AIG to undistand status of deliverables 5 - Gant, Patrick 1/19/2022 2.00 240.00 480.00 compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting 5 - Gant, Patrick 1/20/2022 2.00 240.00 480.00 60% submittal meeting with AIG 5 - Gant, Patrick 1/21/2022 2.00 240.00 480.00 Follow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 Project Manager 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study Meeting with the County to go over the traffic study Coordination with COH on intersection design  Project Manager 6 - Griffin, Jonathan 1/10/2022 3.00 205.00 410.00 Review 60% Plans 6 - Griffin, Jonathan 1/10/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 410.00 Review Gotech Report 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 400.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Project meeting with design consultant for c			ith AIG to discuss the B	W 8 at Fort I	Bend Parkway	
Review 60% submittal and coordinate   5 - Gant, Patrick   1/14/2022   4.00   240.00   960.00   Review 60% plans and coordinate with AIG   5 - Gant, Patrick   1/18/2022   5.00   240.00   1,200.00   prepared comment/response matrix of 60% review comments. coordinated with review team. Contacted AIG to undistand status of deliverables   5 - Gant, Patrick   1/19/2022   2.00   240.00   480.00   compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting   5 - Gant, Patrick   1/20/2022   2.00   240.00   480.00   60% submittal meeting with AIG   5 - Gant, Patrick   1/21/2022   2.00   240.00   480.00   60% submittal meeting with AIG   5 - Gant, Patrick   1/21/2022   1.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   24					•	
S - Gant, Patrick		5 - Gant, Patrick	1/13/2022	4.00	240,00	960.00
Review 60% plans and coordinate with AIG   5 - Gant, Patrick   1/18/2022   5.00   240.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.00   1,200.		Review 60% submittal and coor	rdinate			
5 - Gant, Patrick 1/18/2022 5.00 240.00 1,200.00 prepared comment/response matrix of 60% review comments. coordinated with review team. Contacted AIG to undistand status of deliverables 1 contacted AIG to undistand status of deliverables 5 - Gant, Patrick 1/19/2022 2.00 240.00 480.00 compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting 5 - Gant, Patrick 1/20/2022 2.00 240.00 480.00 60% submittal meeting with AIG 5 - Gant, Patrick 1/21/2022 2.00 240.00 480.00 Follow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 240.00 Meeting with the County to go over the traffic study analysis 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Meeting with the County to go over the traffic study Meeting with the County to go over the traffic study Meeting with the County to go over the traffic study Meeting with the County to go over the traffic study Review 60% Plans 6 - Grifffin, Jonathan 1/10/2022 3.00 205.00 410.00 Review 60% Plans 6 - Grifffin, Jonathan 1/10/2022 3.00 205.00 410.00 Review 60% Plans 6 - Grifffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Grifffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Geotech Report 6 - Grifffin, Jonathan 1/18/2022 1.00 205.00 40.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Grifffin, Jonathan 1/18/2022 1.00 205.00 307.50 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/12/2022 1.00 205.00 205.00 40.00 60% review comments 6 - Odreman, Gabriel 1/12/2022 1.00 205.00 205.00 40.00 60% review comments 6 - Odreman, Gabriel 1/12/2022 1.00 205.00 205.00 40.00 60% review comments 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 205.00 For Oddination with Geotech report 6 - Odreman, Gabriel 1/26/2022 1.00 205.0	1	5 - Gant, Patrick	1/14/2022	4.00	240.00	960.00
prepared comment/response matrix of 60% review comments. coordinated with review team. Contacted AIG to undstand status of deliverables  5 - Gant, Patrick 1/19/2022 2.00 240.00 480.00  compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting  5 - Gant, Patrick 1/20/2022 2.00 240.00 480.00  60% submittal meeting with AIG  5 - Gant, Patrick 1/21/2022 2.00 240.00 240.00  Follow up/action items from AIG 60% meeting  5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00  coordination with AIG on traffic study analysis  5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00  coordination with AIG on traffic study analysis  5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00  coordination with AIG on traffic study analysis  5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00  Meeting with the County to go over the traffic study  5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00  Meeting with the County to go over the traffic study  5 - Gant, Patrick 1/28/2022 2.00 25.00 480.00  Coordination with COH on intersection design  Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00  Review 60% Plans  6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00  Review Shop Drawings for Submittal 22 and 23  6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00  Review Geotech Report  6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00  Review Geotech Report  6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00  Meeting with AIG to discuss 60% comments and geotech report  6 - Odreman, Gabriel 1/11/2022 1.50 205.00 307.50  Meeting with AIG about intersection improvements  6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00  Project meeting with design consultant for comments to 60% submittal  6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00  Project meeting with design consultant for comments to 60% submittal  6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00  Traffic Memo discussion with FBC Engineering  6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00  Coodination with City of Houston		Review 60% plans and coordinate	ate with AIG			
Tevicw team. Contacted AIG to undstand status of deliverables		5 - Gant, Patrick	1/18/2022	5.00	240.00	1,200.00
Compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting					dinated with	
Compiled final list of comments on the AIG 60% submittal and sent to AIG for their use prior to follow up meeting					240.00	480.00
their use prior to follow up meeting 5 - Gant, Patrick 1/20/2022 2.00 240.00 480.00 60% submittal meeting with AIG 5 - Gant, Patrick 1/21/2022 2.00 240.00 480.00 Follow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Meeting with COH on intersection design  Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.00 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Menno discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00						_
5 - Gant, Patrick 1/20/2022 2.00 240.00 480.00 60% submittal meeting with AIG 5 - Gant, Patrick 1/21/2022 2.00 240.00 480.00 Follow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 240.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design Project Manager  Froject Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 410.00 Review Geotech Report 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 410.00 Review Geotech Report 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 307.50 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/12/2022 2.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 410.00 Codimation with City of Houston Scnior Project Engineer						
5 - Gant, Patrick				2.00	240.00	480.00
Follow up/action items from AIG 60% meeting 5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager 6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 410.00 Roeving with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 410.00 Project meeting with BCE Engineering 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Coodination with City of Houston Senior Project Engineer		60% submittal meeting with AI	G			•
5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager  Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Governments and Plans Review 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 820.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 410.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 410.00 Project meeting with BEC Engineering 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 205.00 Coodination with City of Houston				2.00	240.00	480.00
5 - Gant, Patrick 1/24/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 240.00 Meeting with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager  Froject Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review 60% Plans 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 410.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/12/2022 1.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 205.00 Coodination with City of Houston		Follow up/action items from Al	IG 60% meeting			
Coordination with AIG on traffic study analysis   5 - Gant, Patrick   1/25/2022   1.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   240.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   400.00   40		<del>-</del>		1.00	240.00	240.00
5 - Gant, Patrick 1/25/2022 1.00 240.00 240.00 coordination with AIG on traffic study analysis 5 - Gant, Patrick 1/26/2022 1.00 240.00 240.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager 6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 4.00 205.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 410.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 1.00 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 410.00 Froject meeting with HEC Engineering 6 - Odreman, Gabriel 1/20/2022 1.00 205.00 205.00 205.00 Coodination with City of Houston			c study analysis			
5 - Gant, Patrick 1/26/2022 1.00 240.00 480.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 820.00 Review Geotech Report 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 205.00 Coodination with City of Houston				1.00	240.00	240.00
5 - Gant, Patrick 1/26/2022 1.00 240.00 480.00 Meeting with the County to go over the traffic study 5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 820.00 Review Geotech Report 6 - Griffin, Jonathan 1/18/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 205.00 Coodination with City of Houston		coordination with AIG on traffi	c study analysis			
5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston  Senior Project Engineer			•	1.00	240.00	240.00
5 - Gant, Patrick 1/28/2022 2.00 240.00 480.00 Coordination with COH on intersection design  Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 820.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston  Senior Project Engineer		•	over the traffic study			
Project Manager			•	2.00	240,00	480.00
Project Manager  6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 Froject meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston Senior Project Engineer		•	rsection design			
6 - Griffin, Jonathan 1/10/2022 3.00 205.00 615.00 Review 60% Plans 6 - Griffin, Jonathan 1/11/2022 2.00 205.00 410.00 Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston Senior Project Engineer	Project Mana		ŭ			
Review 60% Plans   6 - Griffin, Jonathan   1/11/2022   2.00   205.00   410.00   Review Shop Drawings for Submittal 22 and 23   6 - Griffin, Jonathan   1/13/2022   4.00   205.00   820.00   Internal Meeting and Plans Review   6 - Griffin, Jonathan   1/18/2022   1.00   205.00   205.00   Review Geotech Report   6 - Griffin, Jonathan   1/20/2022   2.00   205.00   410.00   Meeting with AIG to discuss 60% comments and geotech report   6 - Odreman, Gabriel   1/11/2022   1.00   205.00   205.00   Meeting with the Toll Road and BGE   6 - Odreman, Gabriel   1/12/2022   1.50   205.00   307.50   Meeting with AIG about intersection improvements   6 - Odreman, Gabriel   1/13/2022   2.00   205.00   410.00   60% review comments   6 - Odreman, Gabriel   1/20/2022   2.00   205.00   410.00   Project meeting with design consultant for comments to 60% submittal   6 - Odreman, Gabriel   1/26/2022   1.00   205.00   205.00   Traffic Memo discussion with FBC Engineering   6 - Odreman, Gabriel   1/27/2022   1.00   205.00   205.00   Coodination with City of Houston   Senior Project Engineer		_	1/10/2022	3.00	205.00	615.00
Review Shop Drawings for Submittal 22 and 23 6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston  Senior Project Engineer						
Review Shop Drawings for Submittal 22 and 23   6 - Griffin, Jonathan   1/13/2022   4.00   205.00   820.00   Internal Meeting and Plans Review   6 - Griffin, Jonathan   1/18/2022   1.00   205.00   205.00   Review Geotech Report   6 - Griffin, Jonathan   1/20/2022   2.00   205.00   410.00   Meeting with AIG to discuss 60% comments and geotech report   6 - Odreman, Gabriel   1/11/2022   1.00   205.00   205.00   Meeting with the Toll Road and BGE   6 - Odreman, Gabriel   1/12/2022   1.50   205.00   307.50   Meeting with AIG about intersection improvements   6 - Odreman, Gabriel   1/13/2022   2.00   205.00   410.00   60% review comments   6 - Odreman, Gabriel   1/20/2022   2.00   205.00   410.00   Project meeting with design consultant for comments to 60% submittal   6 - Odreman, Gabriel   1/26/2022   1.00   205.00   205.00   Traffic Memo discussion with FBC Engineering   6 - Odreman, Gabriel   1/27/2022   1.00   205.00   205.00   Coodination with City of Houston   Senior Project Engineer		6 - Griffin, Jonathan	1/11/2022	2.00	205.00	410.00
6 - Griffin, Jonathan 1/13/2022 4.00 205.00 820.00 Internal Meeting and Plans Review 6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00 Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00 Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00 Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50 Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston  Senior Project Engineer						
Internal Meeting and Plans Review   6 - Griffin, Jonathan   1/18/2022   1.00   205.00   205.00   Review Geotech Report   6 - Griffin, Jonathan   1/20/2022   2.00   205.00   410.00   Meeting with AIG to discuss 60% comments and geotech report   6 - Odreman, Gabriel   1/11/2022   1.00   205.00   205.00   205.00   Meeting with the Toll Road and BGE   6 - Odreman, Gabriel   1/12/2022   1.50   205.00   307.50   Meeting with AIG about intersection improvements   6 - Odreman, Gabriel   1/13/2022   2.00   205.00   410.00   60% review comments   6 - Odreman, Gabriel   1/20/2022   2.00   205.00   410.00   Project meeting with design consultant for comments to 60% submittal   6 - Odreman, Gabriel   1/26/2022   1.00   205.00   205.00   Traffic Memo discussion with FBC Engineering   6 - Odreman, Gabriel   1/27/2022   1.00   205.00   205.00   Coodination with City of Houston   Senior Project Engineer				4.00	205.00	820.00
6 - Griffin, Jonathan 1/18/2022 1.00 205.00 205.00  Review Geotech Report 6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00  Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00  Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50  Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00  60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00  Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00  Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00  Coodination with City of Houston  Senior Project Engineer						
Review Geotech Report   6 - Griffin, Jonathan   1/20/2022   2.00   205.00   410.00	•	<del>-</del>		1.00	205.00	205.00
6 - Griffin, Jonathan 1/20/2022 2.00 205.00 410.00  Meeting with AIG to discuss 60% comments and geotech report 6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00  Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50  Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00  60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00  Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00  Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00  Coodination with City of Houston  Senior Project Engineer		-				
Meeting with AIG to discuss 60% comments and geotech report         6 - Odreman, Gabriel       1/11/2022       1.00       205.00       205.00         Meeting with the Toll Road and BGE         6 - Odreman, Gabriel       1/12/2022       1.50       205.00       307.50         Meeting with AIG about intersection improvements         6 - Odreman, Gabriel       1/13/2022       2.00       205.00       410.00         60% review comments       6 - Odreman, Gabriel       1/20/2022       2.00       205.00       410.00         Project meeting with design consultant for comments to 60% submittal         6 - Odreman, Gabriel       1/26/2022       1.00       205.00       205.00         Traffic Memo discussion with FBC Engineering         6 - Odreman, Gabriel       1/27/2022       1.00       205.00       205.00         Coodination with City of Houston		•	1/20/2022	2.00	205.00	410.00
6 - Odreman, Gabriel 1/11/2022 1.00 205.00 205.00  Meeting with the Toll Road and BGE 6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50  Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00  Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00  Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00  Coodination with City of Houston  Senior Project Engineer	•	•	0% comments and geote	ch report		
Meeting with the Toll Road and BGE         6 - Odreman, Gabriel       1/12/2022       1.50       205.00       307.50         Meeting with AIG about intersection improvements         6 - Odreman, Gabriel       1/13/2022       2.00       205.00       410.00         60 Odreman, Gabriel       1/20/2022       2.00       205.00       410.00         Project meeting with design consultant for comments to 60% submittal         6 - Odreman, Gabriel       1/26/2022       1.00       205.00       205.00         Traffic Memo discussion with FBC Engineering         6 - Odreman, Gabriel       1/27/2022       1.00       205.00       205.00         Coodination with City of Houston					205.00	205.00
6 - Odreman, Gabriel 1/12/2022 1.50 205.00 307.50  Meeting with AIG about intersection improvements 6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00  Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00  Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00  Coodination with City of Houston  Senior Project Engineer						
Meeting with AIG about intersection improvements         6 - Odreman, Gabriel       1/13/2022       2.00       205.00       410.00         60% review comments       6 - Odreman, Gabriel       1/20/2022       2.00       205.00       410.00         Project meeting with design consultant for comments to 60% submittal         6 - Odreman, Gabriel       1/26/2022       1.00       205.00       205.00         Traffic Memo discussion with FBC Engineering         6 - Odreman, Gabriel       1/27/2022       1.00       205.00       205.00         Coodination with City of Houston		<del>-</del>		1.50	205.00	307.50
6 - Odreman, Gabriel 1/13/2022 2.00 205.00 410.00 60% review comments 6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston  Senior Project Engineer		•				
$60\% \ \text{review comments} \\ 6 - \text{Odreman, Gabriel} \qquad 1/20/2022 \qquad 2.00 \qquad 205.00 \qquad 410.00 \\ \text{Project meeting with design consultant for comments to } 60\% \ \text{submittal} \\ 6 - \text{Odreman, Gabriel} \qquad 1/26/2022 \qquad 1.00 \qquad 205.00 \qquad 205.00 \\ \text{Traffic Memo discussion with FBC Engineering} \\ 6 - \text{Odreman, Gabriel} \qquad 1/27/2022 \qquad 1.00 \qquad 205.00 \qquad 205.00 \\ \text{Coodination with City of Houston} \\ \text{Senior Project Engineer} \\ \\ \\$		<del>-</del>	<del>-</del>	2.00	205.00	410.00
6 - Odreman, Gabriel 1/20/2022 2.00 205.00 410.00 Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston  Senior Project Engineer					-	
Project meeting with design consultant for comments to 60% submittal 6 - Odreman, Gabriel $1/26/2022$ $1.00$ $205.00$ $205.00$ Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel $1/27/2022$ $1.00$ $205.00$ $205.00$ Coodination with City of Houston Senior Project Engineer			1/20/2022	2.00	205.00	410.00
6 - Odreman, Gabriel 1/26/2022 1.00 205.00 205.00 Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston Senior Project Engineer		-				
Traffic Memo discussion with FBC Engineering 6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston Senior Project Engineer	*	, ,				205.00
6 - Odreman, Gabriel 1/27/2022 1.00 205.00 205.00 Coodination with City of Houston Senior Project Engineer		•		-100	—- + - <b></b>	
Coodination with City of Houston Senior Project Engineer			-	1.00	205.00	205.00
Senior Project Engineer		•				
	Senior Projec	_				
/ - 140H, DON		7 - Nash, Don	1/13/2022	2.00	185.00	370.00

Project	008032	Fort Bend County 2020	) Mobility Bond		Invoice	122037
Clerical	•			· · · · · · · · · · · · · · · · · · ·		
	29 - Diederich, Diana	1/13/2022	1.00	105.00	105.00	
	Comments to plans for	r DN				
	Totals		48.50		10,677.50	
	Total Labo	r				10,677.50
	•					\$10,677.50
						\$10,077.5C
Profession	al Personnel					
			Hours	Rate	Amount	
Senior Proi	ect Manager					
· · · · · · · · · · · · · · · · · ·	5 - Gant, Patrick	1/11/2022	3.00	240.00	720.00	
	•	with Fort Bend County (1/12				
·	5 - Gant, Patrick	1/12/2022	5,00	240.00	1,200.00	
<del></del>	•	meeting with FBC Precinct			2,200.00	
	Sidestreets	. mount with 1 Bo 1 toomer	2 to alocass the L	, torgroun		
	5 - Gant, Patrick	1/17/2022	1.00	240.00	240.00	
		t presentation for meeting wi	_,			
	5 - Gant, Patrick	1/18/2022	2.00	240.00	480.00	
		ith HR Green and subs to dis		210.00	100.00	
	5 - Gant, Patrick	1/19/2022	2.00	240.00	480.00	
	•	information on property ow			700,00	
		Fresh Water District to inqui				
	5 - Gant, Patrick	1/20/2022	2.00	240.00	480.00	
	•	Green and RPS team on sco		240.00	400,00	
Project Mar		GIOCH BIRG KI D ICBIII OH SCO	hmg			
L TOJOUL IVIAI	6 - Odreman, Gabriel	1/18/2022	2.00	205.00	410.00	
	•			203.00	410.00	
	6 - Odreman, Gabriel	onsultant team to explain properties of the consultant team to explain te	1.00	205.00	205,00	
	Coordination with HR		1.00	203.00	203.00	
Annoninta Ti		Green				
Associate E	_	. 1/12/0022	2.00	120.00	260.00	
	20 - Richardson, Marl		2.00	130.00	260.00	
-	Work on exhibits for		1.50	170.00	105.00	
	20 - Richardson, Marl		1.50	130.00	195.00	
	Kickoff meeting with	consultant and subs				
Clerical						
	29 - Diederich, Diana	1/17/2022	1.00	105.00	105.00	
	Adm assistance					
	Totals		22.50		4,775.00	
	Total Labo	r				4,775.00
						\$4,775.00
						,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Profession	al Personnel					
			Hours	Rate	Amount	
Project Mar	nager					
	6 - Griffin, Jonathan	1/5/2022	2.00	205.00	410.00	
	Develop Program Est	imate for Witney Way & Cas	sterly Court			
	6 - Griffin, Jonathan	1/10/2022	1.00	205.00	205.00	
	Review Watts Plantat	ion Proposal				
	6 - Griffin, Jonathan	1/25/2022	1.00	205.00	205.00	
	Internal Status Meetir					
	6 - Odreman, Gabriel	1/4/2022	3.00	205.00	615.00	
		, schedules, budgets, next su		_ 32.20	310.00	
	6 - Odreman, Gabriel	1/10/2022	3.00	205.00	615.00	
		Schedules, budgets, quality)	2.00	232,00	015.00	
÷	6 - Odreman, Gabriel	1/17/2022	3.00	205.00	615.00	
	o - Outcinan, Gabilei	1/1//2022	2.00	203.00	013.00	

Project	008032	Fort Bend County 202	0 Mobility Bond		Invoice	122037
	6 - Odreman, Gabrie	1 1/25/2022	3.00	205.00	615.00	
	•	(Schedules, budgets)				
	6 - Odreman, Gabriel	1 1/26/2022	1.00	205.00	205.00	
:	Meeting with Missou	ıry City				
Clerical						
	29 - Diederich, Diana		2.00	105.00	210.00	
	Meeting binder infor					
	29 - Diederich, Diana		.50	105.00	52.50	
,	Weekly update meeti	ing				
	Totals		19.50		3,747.50	
	Total Lab	or				3,747.50
						\$3,747.50
						•
Professional P	ersonnel					
			Hours	Rate	Amount	
Associate Engi		4 14 100 0 0 0		100.00	488.00	
	9 - Edwards, Katlyn	1/4/2022	1.00	130.00	130.00	
	helping with invoicir	•	4.00	100.00	100.00	
	9 - Edwards, Katlyn	1/5/2022	1,00	130.00	130.00	
	helped with invoicing		4.50	120.00	10.500	
	9 - Edwards, Katlyn	1/6/2022	1.50	130.00	195.00	
		ng and getting other firms into		100.00	£ 5.00	
	9 - Edwards, Katlyn	1/10/2022	.50	130.00	65.00	
	checked on invoice a			440.00	C= 00	
	9 - Edwards, Katlyn	1/11/2022	.50	130.00	65.00	
	_	C to get new user for mastery		100.00	65.00	
	9 - Edwards, Katlyn	1/12/2022	.50	130.00	65.00	
	checked on invoice s		1.00	122.00	120.00	
	9 - Edwards, Katlyn	1/19/2022	1.00	130.00	130.00	
	_	with blueridge invoices and cl			120.00	
	9 - Edwards, Katlyn	1/20/2022	1.00	130.00	130.00	
		ogress update, checking invo		120.00	CE 00	
	9 - Edwards, Katlyn	1/26/2022	.50	130.00	65.00	
	approving invoices	1 /00/0000	1.50	120.00	105.00	
	9 - Edwards, Katlyn	1/28/2022	1.50	130,00	195.00	
	uptoading documents plansets	s and approving invoice, chec	eking project sched	mies, and		
	Totals		9.00		1,170.00	
	Total Lab	nr	7.00		1,170.00	1,170.0
	10tml Lan			•		,
						\$1,170.00
Reimbursable	Expenses					
Reim Exp-Mile	eage					
EX 000000	025347 1/13/2022	meeting / Meetin	ileage to Fort Beng g with Fort Bend ( issioner / 16.00 mi	County	9.36	
EX 000000	025347 1/13/2022	2 Gant, Patrick / Re	eturn mileage from meeting / 16.00 n	FBC/FBC	9.36	
	Total Re	imbursables	-	1.0 times	18.72	18.7
						\$18.7
						\$31,903.72